Was ist die richtige Losung? (plus Zahlen bis 10)

Plusrechnen

4 633 +0= s, 17+0= 6. 200 +6=
7 420+5= s 446 +7F = 9. 663 +5=
0469 +7F= 1. 755 +5= 2174 +10=
3182 +6= 14.631+0= 15238+ F=
w11 +10= 172,863 +3 = 8 42F+2=
9. 180+2= 0 945+5= 71 213+2=
2 28F+0= 3648 +6= 4. 216 +9 =
5331 +3= 26 455+ 1= 27865 +10=
8,650+ 4 = 9 60+7F= 20 90+1=
31.8/8+3 = 2. 24+0= 2 170+3=
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Was ist die richtige Losung? (plus Zahlen bis 10) | ANTWORTEN
Ot
XK Plusrechnen

614 +2=616 , 123+9= 132  256+9= 265
. 633+0=633 s 17+0= 17 . 201+6= 207
7 420+5= 425 3 446+ F =453 o 663 +5= 668
0. 469 +7= 476 ;755 +5= 760 ;174 + 10 =184
15182+ 6= 188 . 631+0= 631 5238+ 7= 245
6171 +10=181 1, 863 +3 = 866 5 427 + 2 = 429
19180+ 2= 182 ), 945 +5= 950 ,, 273 +2= 275
2. 287 +0= 287 5 648+ 6= 654 ,, 276+ 9= 285
5.331+3= 334 5, 455+ 1= 456 ;865 + 10 = 875
6. 650 + 4 = 654 5 60+7F= 67 0 90+1= 91
5. 878+3=881 ) 24+0= 24 5 170+3= 173
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